, 6 * @ Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
10, 236 x 10000 = 3,493 x 100000 =
9, 109 x 100000 = 4,864 x 10 =
10,447 x 100 = 1, 195 x 1000 =
5,556 x 100 = 6,723 x 10 =
8,908 x 10 = 6, 89 x 1000000 =
4,058 x 100 = 10,436 x 10 =
2,207 x 10 = 5, 816 x 100000 =
1,991 x 10 = 1,607 x 10 =
4,332 x 10 = 10, 606 x 100000 =
10,482 x 100 = 7,559 x 1000 =
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, 6 * @ Multipliser desimaler med ti

StudentName: _ ExamDate: _~ ExamScore:
10, 236 x 10000 = 102360 3,493 x 100000 = 349300
9,109 x 100000 = 910900 4,864 x 10 = 48.64
10, 447 x 100 = 1044.7 1,195 x 1000 = 1195
5,556 x 100 = 555.6 6,723 x 10 = 67.23
8,908 x 10 = 89.08 6, 89 x 1000000 = 6890000
4,058 x 100 = 405.8 10,436 x 10 = 104.36
2,207 x 10 = 22.07 5,816 x 100000 = 581600
1,991 x 10 = 19.91 1,607 x 10 = 16.07
4,332 % 10 = 43.32 10, 606 x 100000 = 1060600
10, 482 x 100 = 1048.2 7,559 x 1000 = 7559
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